P97 a"7 'on 2,7 naw .7"'02

25977 529 KT B2 197 23 DY 11y P97 - If someone threw an object '7
M»XR in a 7"77 and it landed upon a small protrusion, 539 says
that he is 23’17 a nRLA 1277.

Overview

7071° 27 answered that our 71wn which does not require neither 77°pY nor 7137
from a "7 21pn is according to *17. A9 21 however did not specify where *27
says this. The X3 is discussing which statement of °27, is 701 17 referring
to. Is it the case of R17w 23 11 2"y 111 P12 The &na refutes that it is certainly
not this case (and even without the s'X ) refutation it cannot be the case
because it only proves 7ini7, not 77°pPY), so it must be the case of "7 P71
YRR 277 1"70% and A0 27 accepts the interpretation of 777 27 that 2°mn
70157 DWn NAXY ARXIT 2Wwn NNX 2°nw °27 7377, which proves that °27 does not
require a '7 @3pn neither for 77°PY nor Am17. This is what 791° 27 meant when
he said X°77 °27 12 X7. However according to the reading in various texts in
P P9 this cannot be, for 701 27 states there, that 7717 27 never
interpreted this case of °27, so what could 791° 27 possibly mean that *1n X7
X717 °277?

T 7wpn SnaX KRN 281 — You may ask, the previous question still remains
W2 TTOPY KT Y2 KDT X7 7mam Xa9v7 — perhaps only the 1min does not
require a '7 2pn, but an 799y does require a '7 23pn, s27 ruling was only
about a 7137 but not about an 77°pY, so 701’ 27 definitely did not refer to this ruling of >21.

2SBW 5D 5377 IRD2T 9P W — Moon answers that we can say that this is
indeed a valid refutation, however the X713 refutes it in another manner,
but really could have chosen this refutation as well.” The X7 was not particular in its
refutation, for the X713 anticipated that n0 27 was really referring to the other case of
"7, namely Y¥nR2 "7 2"70% 2" P, based on s 27 interpretation 927 7°77 27
onw, and from there we see that 27 maintains that neither 77°p¥Y nor 7117 require a 2P»
7. This question and answer lay the groundwork for the upcoming question.

(12 q7) PTIR 1APY 98aaT 2veeh awp 9ark — There is a difficulty however
according to those texts in the 71177 P75 whose reading concerning

TIR02 TMRT TN 297 XnW 9y — that which 777 29 will soon mention
concerning the case of ¥R "7 1"77% 2" A1, where °27 is 210,

"Moo assumes that Aoy 21 was aware of the previous refutation *¥a 7Py X7 °¥a X?T X7 7037 827, and is
responding to it, saying that *27 holds that neither 77°p¥ nor 117 require a '7 2PN

? The advantage of the s'xn3 refutation may be that we cannot assume that 21 does not require a '7 2pn
even by 1117, as opposed to Moo, where we cannot assume only 7Py,
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Q9N 929 797 2% - 7717 20 said that 929 is 2997 two miap, one for 70137 and
one for aX¥7; the X702 in P77 continues:

7 RWP XY RTOM 27 290" — that *x7om 27 had a difficulty with s 29
interpretation of "27, and X701 27 asked:

121 2R 2PR2 AVTINR 2°7R 297 K — do you 770 27 mean to say that
27 is AR 2IPR2 ITYINR 2977, how can he be 21 for ARYIM 70137 at the same time,
701577 is a 1720 of nX¥17 and we find that °27 holds that you are not 21 on a 21p»2 77210
aRk? The X ) there continues:

9% ROWP RPY 79 %INR 9277R M OO 37 799 MK — ‘ne 21 responded to 10
X701, You sir have learnt that 777 27 was referencing 29, and therefore
had this difficulty - the above mentioned contradiction,

79 J3%N% TN 207K IR — we however reference s'7717° 27 statement to the
77 of 779 °3n,

'2 29917 9%RT 771 527 Ma7h — according to 777970 927 who says that pn
21 7"792 Mk 7 7231 1" ", on this 7T’ 20 commented that 7717 029
holds he is 20w 2997, one for X% and one for 1"772 NAR "7 7°2vn, and since 7717 20
never said that 2R D1p»2 77210 is MWD, there is no problem,

'2 291 K% 929% ax — "3 however does not hold that you are 211 two
nM1a7p in the case of YR "7 7"772 A" P

2R 2IPR2 ITPINR 927 2991 K97 — because 927 holds that you are not liable
for a ax 2pPna 7790

N7 929 %12 N7 09 29 7N 72 30 a8 — therefore how did %Y 29 want to
answer that our 71wn is according to 329 since according to these texts A0 27
states that we have no indication that *37 is 2°nw 2°nn, in fact since 37 holds 2°nn XS
2R DIPHA 772INR, he cannot be o°nw 2>, so obviously -

W2 TP N7 OU2 K97 RIT M7 XR9YT swpn noR — the original question still
remains perhaps a 7m7 does not require a '7 2172 but an 79°pY does
require a '7 2P, so what did 791° 27 mean when he said X7 °27 °12 X7, It seems that he
did not even begin to address the question?!

In summation: MooIN assumes that A0 27 is coming to answer the refutation 1M RADT
W2 7PV N7 °¥2 K27 X177, and will show us that °27 holds that both 2pn *va XY A0 7Py
'7. 7Oy 21 could not have meant the case of Xyw 92 11 3"V 1Y P77, because from there we
only know nm3717. Therefore he must have meant the case of ¥¥nXa "7 2"7% 2" P,
according to the interpretation of 77> 27 who says 2°nw °27 7°7 21, which would
definitely prove that °27 holds that '7 21 *¥2 R 1M 77°pY, the problem is that 7o 27
says in P77 79 that °27 is not 2°nw 21, therefore we have no proof concerning 77°pY.
noY 27 7287 Y2 w1 — we can answer this question by saying that 701 21
was indeed referring to the case of Xy 95 1°1 2"y n1Y P71, nevertheless you
cannot ask >¥a 779py Xi7 °va X727 X7 73137 81907, for n91° 21 maintains

* In our (X,7¥) N1n3 the text reads Xin 27, see gloss there.
* Other texts (see N in our M) reverse the roles, Aov 27 asked the question and X7on 21 responded.
> Let us distinguish between 777 237 the X1n, and 7717 39 the X7NX



P17 'on 2,7 Daw .7"'02

R29PY 9277 7UPR XP177 — that only on s'y'' principle of uyop

55> mman 82997 — where the object does not rest at all

w2 9Py KT TI99mh 99K — only there is it appropriate to ask *¥a 79y 87,
since 07p is such a novel concept, we will apply it minimally, only by 1m377

RITR 92 107 23 DY M7 9waT 929K Y28 — however concerning 37 who does
require a 7737 albeit on a R 92 17

NI 522 R0 7MPYRT P77 X7 — the same should hold for 779y that a
minimal place suffices.

Since ¥"1 maintains 702p, that means that not only is a "7 2p» not required for 7137, but
rather that there is no concept of 1177 — the object being at rest — at all, all that is required
to complete the 719877 is 2P, Therefore we cannot say for sure that ¥"3 holds that less
than a '7 0Wn is also a 2wn 0, for ¥" merely says that no nmi7 is required, 7VI7p is
sufficient. When a 01pn is required however, as in 77°py, ¥"1 may well agree that a '7 23p»
is required®. *21 however requires a M7 Dpn albeit a Xiw 93, therefore we assume that
>27 maintains that a X173 9 is also a 01pn, and there is no reason to differentiate between
77°py and 1man. Therefore when 7010 27 said X°7 %27 °1» K71, he meant the case of 2"V i po7
X17w 92 177, that since for m37, a X19W 93 is sufficient, the same is true for 71°py.

NoM 277 K720 7O 7 Tmea 2w v — however the X»3 further (X,7)
does not hold of s'n91° 39 reasoning i.c. that if for a a7, a X37W 73 is sufficient,
the same applies to 17°py, for we see that -

N7 529K 79997 — the X722 there asks on X9 529, who wanted to say that our
A1wn is according to ‘0K who says that if the receiver stood in his place and caught the
object, the thrower is 211, so we see that a '7 Dp» is not required (for 7137); on this the
X3 asks:

'T @IPR NPY W2 2R X»9OT — perhaps 2°9nR requires the 779y to be
from a '7 2pn

IS M R 952 XOA8 K91 — and a minimal amount is not sufficient as it
is by 1m17. We see clearly that even though 0™nX requires a an37 on a X1 23 (like
"27); nevertheless the X773 maintains that it does not prove that the same is true for 77°py.
This is in contradiction to s'n91° 27 position according to NdoIN. In conclusion: this vwd of
Moo0IN maintains that A91° 27 when he said X°77 27 "1 X7, was referring to the case of pI7
X17W 25 11 3"y . The 0", however, will maintain that 101’ 27 was referring to the case of
YRR " 277 2"0n P, as we shall presently see.

P72 3390737 RN an 19299 — The n''1 maintains however that the text in
1117 279 should read:

7% RMWP RPY N8 27 2907 — that 12 21 had the question how can 777> 2
say that 2>nw >27 77 2°17 in the case of YRR > 7" 1" 277, since *27 is not 271n
IR DIPR2 TTNNR

121 87017 29 7199 AR — and X717 27 responded etc. “You sir have learnt that 27
7717 was referencing °27, and therefore had this difficulty etc”.

% According to this we may interpret *¥2 7°PY X7 *¥2 K97 X¥7 737 X127, to mean that “perhaps a 7n37 is not
required at all, however an 77°py is required”, and therefore it has to be from a '7 21pn.
7 onx refers to 7°Xn °37 who learnt by the heretic 7m2aR 72 YWOR



P17 'on 2,7 Daw .7"'02

S2TTR STTNTY 29 9927 %INR T [0 297 W SNRY — and now everything works
out properly, for it is indeed n© 29 who references s'77777° 29 statement

to 929, According to this reading of the text 101’ 21 maintains that 21 holds, according to
s'7T1 27 interpretation, that he is 2°nw 21, so we have proof that 7nIM 77°pY do not
require a "7 21P» and it was this case of "2 that 7o1° 27 was referring to, not the case of P71
RITW 29 11 A"y .

12 MR R 7987 Te2Y — and when the X723 will soon refute this proof,

by saying but we have learnt that etc. meaning that we cannot prove anything
from this case of Y¥naR2a >"771 7"777 2"710 T (see R,

(‘s Ty ow) PN DI 2% 0 ROWPT KT 709D x» 17 — the X723 could have
just as well refuted this proof by quoting s'591 39 own difficulty with 27
s interpretation in (2,7¥) P97 P79, that A7 27 cannot be correct when he
says D°Nw °27 7°1 27 mn:

2R 2IPM2 7TYINR 2907 KY 9277 — for 727 is not *ax @pna ATHINK 2mn

299277 79K 299277 29927 X%InT — as we learnt in a Xn>12 that the 770 says

in 977°1 NWD concerning @¥M377 9K ,NAW NIXYM, from here we learn the ©"%
nOXY1, and therefore one is not a8 P12 772I0X 20, If 7770 27 is incorrect and °27 is not
o°nw 211, then there is no proof from this case.” MoOIN continues:

791 2n 129 noa2Y — The text reading of the n''s appears to be the
correct one, that oY 21 said that 777 27 holds that o°nw 2»n» >27, and not 77T 27
Dnw 27

77ITY 297 KNP QDY 27 InRT KON XYY — for according to the other
reading; that no» 231 references s'77%7 29 statement,

ST SANTR 2N AT — that 77970 929 is 29N 2% in the case of "7 Zaall
9"7372 NIRRT 7Y 1"aAY, then —

N 297X [ 297 7w — there will be a contradiction from one statement
of no 21 to another

1TINIIN MART N 27 7237 RO MR annT — for the X3 says there (2,7%)
clearly that noy° 291 77129 both agree

NNR RONR 7797 927 2972 XY — that 7737 927 is only nniX 2997, so how can we
justify the other reading where n©1° 27 claims that 777 27 said that 777 °27is 2»mn
o°nw, when 791> 27 himself says that nix 2»m 7717 *27. N19OIN contiues: however -

ninTy wa — this proof can be negated
SRR TN 2977 7Rwn 7oy 297 — for noY 29 merely said in the name of 29
777

¥ See Xm"m% 1"7 2,78 97 Naw 'on, where MooIn suggests a possible refutation to this question

? There is a difference if *27% 7777 277 X712 *10 noY 27 and has difficulty with it, or if 277 X772 >3 82 f0v 21
2R 777; in the former we are told that 2°nw 2»nn 37, according to 771 27, proving that '7 D1pn 1171 XL
7M1 77°PYa, we however have a difficulty understanding it and we may attempt to refute it, in the latter
however, no one even says that 2°nw *27 77°77 21 and therefore there is no XX 771 even of a "X, See
‘Thinking it over’ #4.
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2onw 251 77 %5297 — that 77170 931 is 20w 3mn

Y% X200 KD 7799 — as to 701 21 himself, he does not hold like that i.c. that
QNw 211 A7 °27, therefore the text may read that 701 27 said that 777 27 maintains
that 2'nw 2»mn 77 *27.

Summary
MooIN assumes that 71 27 is replying to the question Y2 RDT X7 7737 K12

593 77°py X7, To answer this question 701 27 says X7 °27 *11 X7, but did not
specify which case of "27 he was referring to. To which maoin offers two
alternate approaches. 1) That 701 27 was referring to the case of 1"V 1 P71
27mn 227 XIAW 99 11, and we cannot ask Y2 7Py KT W2 KDT RYT A0 RO,
for that question is applicable only if we say n12p, not if we hold that a 7377
XTw 93 is required. This approach is dictated by the reading of the X731 in
P 279 that 101 27 maintains that 7717 27 never said 2°nWw °27 7°7 2707, 2)
The n"2 maintains that 101° 27 was referring to the case of 1"77% "7 P
V¥R "M and the text in P77 P79 reads that A0 27 maintained that 27
777 said 2w 027 7°7 201, and therefore '7 0P "Y2 X7 03 7P,

Thinking it over

1. How do we know that m»oIn assumes that 7o 27 1s responding to the
question Y2 77°PY KT °Y2 X927 R 117 RT?

2. In moon question(s), what did '01n assume that 791 17 meant when he
said X7 °27 °1 X717 Why?

3. What are the relative stronger and weaker points of each of maoin two
°x1°n?

4. What did the n"9 gain by his reading of the text, 791° 27 still could not
accept s 27 interpretation? See footnote #9.

5. In the first approach mooIn suggests that the question X?7 X7 1M17 XN
Y2 7PV K7 V2 is applicable only to Y9, and not to RyIW 22 2Ipn HY A,
Can we correlate this idea more closely with any of the reasons why we
originally asked ¥2 77°py Xi7 °¥2 X?7 X177 7037 X7, i.e. X271 3" "oy 2"'wA?
6. Why does nm1po1n ask here in the 271 17"7 a question about the next X723 of
YXARA 2" "% 2" pr?

7. We may think of °n7 annnw > 7vI%P meaning either that %P is
considered to be actually at rest (in principle) at some point, or that 7v1%p
does not require a resting place. Which would be more appropriate
according to our NMvoIN?

' This is the corrected reading in Mmoo, see gloss
' And not to the original question "X2'21'7 ¥ '7 DR 223 YYn I APY 1Y R



